aAVINORAE—RIbO-5

I Tvkoa7

@3UHAX
EA T K F _| HX

@ & k- 5‘;@7 JA{LT L | L | Ls T A ;iég —mig | N | M| D | D |HE

- (mm) | (M,R) |(mm)|(mm)|(mm)|(mm)|(mm)|(mm)| (mm) [ (mm) |(mm)|(mm)|(mm)]|(mm)| (g)

ASC4-M5-0 4 M5X0.8 | 18.0 | 10.1 | 22.8 | 28.6 | 25.8 | 3.4 | 135 | 8.0X90 | 8.0 | 50 | 9.8 | 96 | 8.0

} ASC4-M5-1 4 M5X0.8 | 18.0 | 10.1 | 22.8 | 28.6 | 25.8 | 3.4 13.5 8.0X9.0 | 8.0 5.0 9.8 9.6 8.0
’i_g ASC4-R1/8-0 4 R1/8 |20 | 137|272 [36.0|31.0 | 7.3 | 135 [12.0X135/11.0 | 8.0 | 9.8 [14.2 | 19.0

ASC4-R1/8-1 4 R1/8 | 201 137|272 |36.0 [31.0 | 7.3 | 135 [120X135|11.0 | 8.0 | 9.8 | 14.2 | 19.0

ASC6-M5-0 6 M5X0.8 | 20.3 | 10.1 | 25.1 | 28.6 | 25.8 | 3.4 15.0 8.0X9.0 | 8.0 5.0 [ 126 | 9.6 9.0

ASC6-M5-1 6 M5X0.8 | 20.3 | 10.1 | 25.1 | 28.6 | 25.8 | 3.4 15.0 8.0X9.0 | 8.0 5.0 (126 | 9.6 9.0

ASC6-R1/8-0 6 R1/8 |21.8|137 289|360 [31.0| 73 | 150 [120X13.5|11.0 | 8.0 |12.6 | 14.2 | 20.0

ASC6-R1/8- 6 R1/8 |21.8 | 137|289 |36.0 [31.0| 7.3 | 150 [120X135|11.0 | 8.0 |12.6 | 14.2 | 20.0

ASC6-R1/4-0 6 R1/4 23.6 | 18.2 | 32.9 | 40.3 | 35.3 | 10.8 15.0 [14.0X15.8| 13.0 | 10.0 | 12.6 | 18.5 | 33.0

ASC6-R1/4-1 6 R1/4 23.6 | 18.2 | 32.9 | 40.3 | 35.3 | 10.8 15.0 (14.0X15.8| 13.0 | 10.0 | 12.6 | 18.5 | 33.0

ASC8-R1/8-0 8 R1/8 26.6 | 13.7 | 33.7 | 36.0 | 31.0 | 7.3 16.0 [12.0X135| 11.0 | 8.0 | 14.6 | 142 | 21.0

ASC8-R1/8-I 8 R1/8 26.6 | 13.7 | 33.7 | 36.0 | 31.0 | 7.3 16.0 (12.0X13.5| 11.0 | 8.0 | 14.6 | 14.2 | 21.0

ASC8-R1/4-0 8 R1/4 | 249 (182|341 | 403|353 (108 | 16.0 [14.0X15.8| 13.0 | 10.0 | 14.6 | 18.5 | 34.0

* ASC8-R1/4-1 8 R1/4 249 | 18.2 | 34.1 | 40.3 | 35.3 | 10.8 16.0 (14.0X15.8| 13.0 | 10.0 | 14.6 | 18.5 | 34.0
N ASC8-R3/8-0 8 R3/8 | 26.9 | 19.9 |38.2 | 46.3 [ 41.3 [11.1 | 16.0 [19.0X21.0| 16.0 | 13.0 | 14.6 | 22.6 | 62.0
- <I F ASC8-R3/8-I 8 R3/8 26.9 | 19.9 | 38.2 | 46.3 | 41.3 | 111 16.0 (19.0X21.0| 16.0 | 13.0 | 14.6 | 22.6 | 62.0
/! ASC10-R1/8-0 10 R1/8 30.4 | 13.7 | 37.5 | 36.0 | 31.0 | 7.3 19.0 [12.0X135| 11.0 | 8.0 | 17.5 | 14.2 | 23.0

T $D1 ASC10-R1/8-1 10 R1/8 30.4 | 13.7 | 37.5 | 36.0 | 31.0 | 7.3 19.0 (12.0X13.5| 11.0 | 8.0 | 17.5 | 14.2 | 23.0
ASC10-R1/4-0| 10 R1/4 | 315 |18.2 407 | 40.3 [ 353 [10.8 | 19.0 [14.0X15.8| 13.0 | 10.0 | 17.5 | 18.5 | 37.0

M5 r\\/} ASC10-R1/4-1 10 R1/4 31.5 | 18.2 | 40.7 | 40.3 | 35.3 | 10.8 19.0 (14.0X15.8| 13.0 | 10.0 | 17.5 | 18.5 | 37.0
ASC10-R3/8-0 10 R3/8 30.3 | 19.9 | 41.6 | 46.3 | 41.3 | 11.1 19.0 [19.0X21.0| 16.0 | 13.0 | 17.5 | 22.6 | 65.0

{BEE \ < ¢ ASC10-R3/8-1 10 R3/8 30.3 [ 19.9 | 416 | 46.3 | 41.3 | 111 19.0 (19.0X21.0| 16.0 | 13.0 | 17.5 | 22.6 | 65.0
/ ! L ¢d1 ASC10-R1/2-0 10 R1/2 324 | 245 | 46.0 | 54.5 | 49.5 | 14.4 19.0 [24.0X26.0| 20.0 | 16.0 | 17.5 | 27.4 (109.0
T 48 HRA o MEE ASC10-R1/2-1 10 R1/2 324 | 245 | 46.0 | 54.5 | 49.5 | 14.4 19.0 [24.0X26.0| 20.0 | 16.0 | 17.5 | 27.4 [109.0
ASC12-R3/8-0 12 R3/8 37.7 | 19.9 | 49.0 | 46.3 | 41.3 | 11.1 20.0 (19.0X21.0| 16.0 | 13.0 | 20.0 | 22.6 | 67.0

ASC12-R3/8-1 12 R3/8 37.7 | 19.9 | 49.0 | 46.3 | 41.3 | 111 20.0 (19.0X21.0| 16.0 | 13.0 | 20.0 | 22.6 | 67.0
ASC12-R1/2-0| 12 R1/2 | 337 | 245|47.4 | 54.5 | 49.5 [ 14.4 | 20.0 |24.0X26.0| 20.0 | 16.0 | 20.0 | 27.4 |111.0
ASC12-R1/2-1 12 R1/2 | 33.7 | 245 |47.4 | 54.5 | 49.5 [ 14.4 | 20.0 |24.0X26.0| 20.0 | 16.0 | 20.0 | 27.4 |111.0

I 2=—9 517
@3IVH(X
%5557 nTL;‘ L L | L Ls K Fa1—7 Hx ¢

@ i [ e e s am| " |fige| =@ | N (M| D | D HE

‘,/’ (mm) | (M,R) |(mm)|(mm)|(mm)|(mm) m (mm) [(mm) | (mm) | (mm) |(mm) |(mm) |(mm) |(mm) | (g)
ASD4-M5-0 4 |M5X0.8| 9.9 | 10.1 | 185 | 245|286 | 258 | 3.4 | 11.0 | 8.0X9.0 | 80 | 50 | 8.0 | 9.6 | 8.0

ASD4-M5-1 4 |M5X0.8| 9.9 | 10.1 | 185 | 245 | 28.6 | 25.8 | 3.4 | 11.0 | 8.0X9.0 | 8.0 5.0 8.0 9.6 8.0

- ASD4-R1/8-0 | 4 R1/8 |12.2|13.7 | 23.1 | 28.0 |36.0 | 31.0 | 7.3 | 11.0 [12.0X135| 11.0 | 8.0 | 8.0 |14.2 | 18.0

~— ASD4-R1/8-1 4 R1/8 |12.2 | 13.7 | 231 | 28.0 [ 36.0 | 31.0 | 7.3 | 11.0 [12.0X13.5/ 11.0 | 80 | 8.0 | 142 | 18.0

ASD6-M5-0 6 M5X0.8| 9.9 | 10.1 | 19.5 | 25.9 | 28.6 | 25.8 | 3.4 | 12.0 | 8.0X9.0 | 8.0 5.0 [ 10.0 | 9.6 8.0

ASD6-M5-1 6 |M5X0.8| 99 | 10.1 195|259 | 28.6 | 25.8 | 3.4 | 12.0 | 8.0X9.0 | 8.0 5.0 [ 10.0 | 9.6 8.0

ASD6-R1/8-0 | 6 R1/8 |12.2|13.7 | 241 [ 29.4 | 36.0 | 31.0 | 7.3 | 12.0 [12.0X135| 11.0 | 8.0 | 10.0 | 14.2 | 19.0

Ls ASD6-R1/8-1 6 R1/8 |12.2|13.7 | 241 | 29.4 | 36.0 | 31.0 | 7.3 | 12.0 [12.0X13.5| 11.0 | 8.0 | 10.0 | 14.2 | 19.0

L1 ASD6-R1/4-0 | 6 R1/4 |14.3 | 17.1 | 28.4 | 32.9 | 40.3 | 35.3 | 10.8 | 12.0 [14.0X15.8/ 13.0 | 10.0 | 10.0 | 18.5 | 32.0

4N, ASD6-R1/4- 6 R1/4 |14.3 | 17.1 | 28.4 | 32.9 | 40.3 | 35.3 | 10.8 | 12.0 |14.0X15.8/ 13.0 | 10.0 | 10.0 | 18.5 | 32.0

M M 4D ASD8-R1/8-0 | 8 R1/8 |16.1 | 14.4 | 30.5 | 35.1 | 36.0 | 31.0 | 7.3 | 16.0 [12.0X13.5( 11.0 | 8.0 | 14.6 | 142 | 220
ASD8-R1/8- 8 R1/8 |16.1 | 14.4 | 30.5 | 35.1 | 36.0 | 31.0 | 7.3 | 16.0 [12.0X13.5 11.0 | 8.0 | 14.6 | 14.2 | 22.0

H@ : ASD8-R1/4-0 8 R1/4 | 18.2 | 18.0 | 34.8 | 38.7 | 40.3 | 35.3 | 10.8 | 16.0 |14.0X15.8| 13.0 | 10.0 | 14.6 | 18.5 | 36.0

i i = ASD8-R1/4-1 8 R1/4 | 18.2 | 18.0 | 34.8 | 38.7 | 40.3 | 35.3 | 10.8 | 16.0 |14.0X15.8| 13.0 | 10.0 | 14.6 | 18.5 | 36.0

x & o ASD8-R3/8-0 | 8 R3/8 |20.3|18.7 |38.9 | 39.4 | 46.3 | 41.3 | 11.1 | 16.0 [19.0X21.0| 16.0 | 13.0 | 14.6 | 22.6 | 64.0
i __/ - ASD8-R3/8-I 8 R3/8 | 20.3 | 18.7 | 38.9 | 39.4 | 46.3 | 41.3 | 11.1 | 16.0 |19.0X21.0| 16.0 | 13.0 | 14.6 | 22.6 | 64.0

S fLr ASD10-R1/4-0| 10 | R1/4 |18.2 | 18.0 | 36.2 | 42.6 | 40.3 | 35.3 | 10.8 | 19.0 [14.0X15.8| 13.0 | 10.0 | 17.5 | 18.5 | 38.0
<] T ASD10-R1/4-1 10 R1/4 | 18.2 | 18.0 | 36.2 | 42.6 | 40.3 | 35.3 | 10.8 | 19.0 [14.0X15.8/ 13.0 | 10.0 | 17.5 | 18.5 | 38.0

#D1 T ASD10-R3/8-0| 10 | R3/8 |20.3 | 18.7 | 40.3 | 43.3 | 46.3 | 41.3 | 11.1 | 19.0 [19.0X21.0| 16.0 | 13.0 | 17.5 | 22.6 | 66.0
ASD10-R3/8-1 10 R3/8 | 20.3 | 18.7 | 40.3 | 43.3 | 46.3 | 41.3 | 11.1 | 19.0 [19.0X21.0| 16.0 | 13.0 | 17.5 | 22.6 | 66.0

145



